


[A] General (lkekU;)

1. This Question paper contains THREE Parts, A, B & C  (Physics, Chemistry & Biology).

bl iz'u&i=k esa rhu Hkkx A, B vkSj C  (HkkSfrdh] jlk;u 'kkL=k vkSj tho foKku) 'kkfey gSaA
2. This Question Paper contains 34 pages including the cover page.

bl iz'u&i=k esa doj i`"B lfgr 34 i`"B 'kkfey gSaA
3. This question paper contains total 120 questions (30 questions each in Physics & Chemistry and 60 question in

Biology).

bl iz'u&iz=k eas dqy 120  iz'u (HkkSfrdh esa 30] jlk;u foKku esa 30 iz'u vkSj tho foKku esa 60 ç'u 'kkfey) gSaA

4. The Question Paper has blank spaces at the bottom of each page for rough work. No additional sheets will be
provided for rough work.

iz'u&i=k esa jiQ odZ ds fy, izR;sd i`"B ds uhps fjDr LFkku gksrs gSaA jiQ odZ dss fy, dksbZ vfrfjDr i`"B ugha fn;k tk,xkA
5. Blank papers, clip boards, log tables, slide rule, calculators, cellular phones, pagers and electronic gadgets, in

any form, are NOT allowed.

fdlh Hkh :i esa [kkyh dkxt] fDyi cksMZ] ykWx Vscy] LykbM :y] dSydqysVj] lsyqyj iQksu] istj vkSj bysDVªkWfud xStsV~l dh vuqefr ugha gSA
6. The OMR (Optical Mark Recognition) sheet shall be provided separately.

OMR (Optical Mark Recognition) i`"B vyx ls iznku fd;k tk,xkA
[B] Answering on the OMR

7. In all the parts, each question will have 4 choices out of which only one choice is correct.

lHkh Hkkxksa esa] izR;sd iz'u esa 4 fodYi gksaxs] ftlesa ls dsoy ,d fodYi lgh gksxkA
8. Darken the bubble with Ball Pen (Blue or Black) ONLY.

dsoy ckWy isu (Cyw ;k CySd) ds lkFk cqycqys dks xgjk djsaA
[C] Filling OMR

9. On the OMR sheet, fill all the details properly and completely, otherwise your OMR will not be checked.

OMR 'khV ij] lHkh fooj.k Bhd ls vkSj iwjh rjg ls Hkjsa] vU;Fkk vkids OMR dh tkap ugha dh tk,xhA

10. Do not write anything or tamper the barcode in the registration no. box.

dqN Hkh u fy[ksa ;k iathdj.k la[;k esa ckjdksM ls NsM+NkM+ u djsaA
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[D] Marking Scheme: ( vadu ;kstuk )
11. For each question you will be awarded +4 marks if you darken the bubble corresponding to the correct answer ONLY

and zero (0) marks if no bubble is darkened. In all other cases, minus one (–1) mark will be awarded.

izR;sd iz'u ij vkidks +4 vad iznku fd;k tk;xk ;fn vki lgh mÙkj ds vuq:i ccy dks dkyk djrs gSaA ;fn dksbZ ccy dkyk ugha gS rks 'kwU; (0)

vad fn;k tk,xkA vU; fdlh fLFkfr esa ekbUl ,d (–1) vad fn;k tk,xkA
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PART-A : PHYSICS  (HkkSfrdh)
1. From the top of a tower, a particle is thrown vertically downwards with a velocity of 10 m/s.

The ratio of the distances, covered by it in the 3rd and 2nd seconds of the motion is

2(Take g 10m / s )

,d Vkoj ds 'kh"kZ ls] ,d d.k 10 ehVj@lsdsaM ds osx ds lkFk yacor uhps dh vksj Qsadk tkrk gSA

xfr ds rhljs vkSj nwljs lsdaM esa blds }kjk r; dh xbZ nwfj;ksa dk vuqikr gS 2(Take g 10m / s )

(A) 5 : 7 (B) 7 : 5 (C) 3 : 6 (D) 6 : 3

2. If a ball is thrown vertically upwards with speed u, the distance covered during the last  ‘t’

seconds of its ascent is

;fn ,d xsan dks u xfr ls yacor Åij dh vksj Qsadk tkrk gS] rks mlds vkjksg.k ds vafre ‘t’ lsdaM
ds nkSjku r; dh xbZ nwjh gS

(A)  
21

gt
2

(B)  
21

ut gt
2

 (C)  (u gt)t (D) ut

3. The displacement time graph for the two particles A and B are straight lines inclined at angle

of 30º and 60º with the time-axis. The ratio of the velocities   will be

nks d.kksa A vkSj B ds fy, foLFkkiu le; xzkQ] le;&v{k ds lkFk 30º vkSj 60º ds dks.k ij >qdh
gqbZ lh/kh js[kk,a gSaA osxksa dk vuqikr gksxk

(A) 1 : 2 (B) 1: 3 (C)  3 :1 (D) 1 : 3

4. Which of the following changes when a particle is moving with uniform velocity

(A) Speed (B) Velocity (C) Acceleration (D) Position vector

fuEu esa ls dkSu lk ifjorZu rc gksrk gS tc dksbZ d.k ,dleku osx ls xfr djrk gS

(A) xfr (B) osx (C) Roj.k (D) fLFkfr osDVj

5. If the angle between 


a and b  is 


,
3

 then angle between 


2a  and 


3b  is :

;fn 


a and b  ds chp dk dks.k 


,
3

 gS rks 
2a  vkSj 


3b  ds chp dk dks.k gS %

(A)  / 3 (B) 2 / 3 (C)  / 6 (D) 5 / 3
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6. n small balls each of mass 'm' impinge elastically each second on a surface with velocity u.

The force experienced by the surface will be

n NksVh xsansa çR;sd dk æO;eku 'm'  osx u ds lkFk lrg ij çR;sd lssdsaM esa izR;kLFk :i ls Vdjkrh
gSaA lrg }kjk vuqHko fd;k x;k cy gksxk

(A) mnu (B) 2 mnu (C) 4 mnu (D)   
1

2
mnu

7. A smooth inclined plane, of length L having inclination   with the horizontal is inside a lift

which is moving down with retardation ‘a’. The time taken by a body to slide down the inclined

plane, from rest will be

{kSfrt ds lkFk   >qdko okyk L yackbZ dk ,d fpduk lŸkg ,d fy¶V ds vanj gksrk gS tks eanrk
‘a’ ds lkFk uhps tk jgk gSA fdlh fiaM }kjk >qds gq, ry dks vkjke ls uhps dh vksj f[kldus esa yxus
okyk le; gksxk

(A)  2L / asin (B)  2L / gsin

(C)  2L / (g a)sin  (D)   2L / (g a)sin 

8. An empty plastic box of mass m is found to accelerate up at the rate of g / 6 when placed

deep inside water. How much sand should be put inside the box so that it may accelerate

down at the rate of  g / 6 ?

æO;eku m dk ,d [kkyh IykfLVd dk ckWDl ikuh ds vanj xgjs j[ks tkus ij g / 6  ls Åij Rofjr
gksrk ik;k tkrk gSA c‚Dl ds vanj fdruh jsr Mkyuh pkfg, rkfd og uhps dh vksj g / 6   nj ls
Roj.k  dj lds\

(A)  
m

5
(B)  

2m

5
(C)  

3m

5
(D)   

4m

5

9. At the top of the trajectory of a projectile, the directions of its velocity and acceleration are

(A) Perpendicular to each other (B) Parallel to each other

(C) Inclined to each other at an angle of  (D) Antiparallel to each other

,d ç{ksI; ds ç{ksioØ ds 'kh"kZ ij] mlds osx vkSj Roj.k dh fn'kk,¡ gSa

(A) ,d nwljs ds fy, yacor (B) ,d nwljs ds lekukarj

(C) ,d nwljs ls    dks.k ij >qdk gqvk (D) ,d nwljs ds lekukarj foifjr fn'kk esa
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10. A cricketer hits a ball with a velocity 25 m/s at 60º above the horizontal. How far above the
ground it passes over a fielder 50 m from the bat (assume the ball is struck very close to the
ground)

(A) 8.2 m (B) 9.0 m (C) 11.6 m (D) none of these

,d fØdsVj {kSfrt ls Åij 60º ij 25 ehVj@lsdsaM osx ls xsan dks fgV djrk gSA ;g cYys ls 50
ehVj dh nwjh ij ,d {ks= j{kd ds Åij ls tehu ls fdruh ÅWpkbZ ij xqtjrk gS ¼eku ysa fd xsan
tehu ds cgqr djhc yxh gS½

(A) 8-2 ehVj (B) 9-0 ehVj (C) 11-6 ehVj (D) buesa ls dksbZ ugha

11. A body of mass m is projected at an angle of  45º with the horizontal with speed v. If air
resistance is negligible, then total change in momentum when it strikes the ground is

æO;eku m dk ,d fiaM {kSfrt ds lkFk 45º ds dks.k ij v xfr ls ç{ksfir fd;k tkrk gSA ;fn ok;q
çfrjksèk ux.; gS] rks tehu ls Vdjkus ij laosx esa dqy ifjorZu gksrk gS

(A) 2 mv (B)  2 mv (C) mv (D)  mv / 2

12. If a body A of mass M is thrown with velocity V at an angle of  30º to the horizontal and another
body B of the same mass is thrown with the same speed at an angle of 60º  to the horizontal,
the ratio of horizontal range of A to B will be

;fn æO;eku M dk ,d fiaM V osx ls {kSfrt ls 30° ds dks.k ij Qsadk tkrk gS vkSj mlh æO;eku
dk nwljk fiaM B {kSfrt ls 60° ds dks.k ij leku xfr ls Qsadk tkrk gSA A ls B ds {kSfrt ijkl
dk vuqikr gksxk

(A) 1 : 3 (B) 1 : 1 (C) 1: 3 (D)  3 :1

13. Water from a stream is falling on the blades of a turbine at the rate of 100 kg/sec. If the height
of the stream is 100 m, then the power delivered to the turbine is  -

(A) 100 kW (B) 100 W (C) 10 kW (D) 1 kW

,d /kkjk ls ikuh 100 fdxzk/lsdaM dh nj ls ,d Vjckbu ds CysM ij fxj jgk gSA ;fn /kkjk dh Å¡pkbZ
100 ehVj gS] rks Vjckbu dks nh tkus okyh 'kfä gS &

(A) 100 kW (B) 100 W (C) 10 kW (D) 1 kW

14. A particle moves in a straight line with its retardation proportional to its displacement 'x'.
Change in kinetic energy is proportional to -

,d d.k ,d lh/kh js[kk esa xfr djrk gS] ftldk eanu mlds foLFkkiu 'x' ds lekuqikrh gksrk gSA
xfrt ÅtkZ esa ifjorZu fdlds lekuqikrh gksrk gS\

(A) x2 (B) ex (C) x (D) log
e
 x
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15. A body is displaced from (0, 0) to (1m, 1m) along the path x = y by a force 2ˆ ˆF (x j yi )N 


 .

The work done by this force will be -

,d fiaM dks iFk x = y ds vuqfn'k ¼0] 0½ ls (1m, 1m) rd cy }kjk foLFkkfir fd;k tkrk gSA bl

cy 2ˆ ˆF (x j yi )N 


 }kjk fd;k x;k dk;Z gksxk &

(A)
4

J
3

(B)  
5

J
6

(C)
3

J
2

(D)  
7

J
5

16. A stone is thrown with an initial speed of 4.9 m/s from a bridge in vertically upward direction.
It falls down in water after 2 sec. The height of the bridge is

,d iRFkj dks ,d iqy ls 4-9 ehVj@lsdsaM dh çkjafHkd xfr ds lkFk yacor Åij dh fn'kk esa Qsadk
tkrk gSA ;g 2 lsdaM ds ckn ikuh esa fxj tkrk gSA iqy dh ÅapkbZ gS

(A) 4.9 m (B) 9.8 m (C) 19.8 m (D) 24.7 m

17. An object at rest in space suddenly explodes into three parts of same mass. The momentum

of the two parts are ˆ2P i and ˆP j . The momentum of the third part.

(A) Will have a magnitude P 3 (B) Will have a magnitude P 5

(C) Will have a magnitude P (D) Will have a magnitude 2P

varfj{k esa fojkekoLFkk esa j[kh dksbZ oLrq vpkud leku æO;eku ds rhu Hkkxksa esa QV tkrh gSA nks

Hkkxksa dk laosx gS ˆ2P i  rFkk ˆP j A rhljs Hkkx ds vkosx dk

(A) ifjek.k P 3  gksxk (B) ifjek.k P 5  gksxk

(C) ifjek.k P gksxk (D) ifjek.k 2P gksxk

18. A ball of mass 0.5 kg moving with a velocity of 2ms–1 strikes a wall normally and bounces
back with the same speed. If the time of contact between the ball and wall is 10–2 s, the
average force exerted by the wall on the ball is

0-5 fdxzk æO;eku dh ,d xsan 2ms–1 ds osx ls pyrh gqbZ ] lkekU; :i ls ,d nhokj ls Vdjkrh
gS vkSj mlh xfr ls okil mNyrh gSA ;fn xsan vkSj nhokj ds chp laidZ dk le; 10–2 lsdsaM gS]
rks nhokj }kjk xsan ij yxk;k x;k vkSlr cy gS

(A) 1123 N (B) 1000 N (C) 500 N (D) 200 N

19. Power applied to a particle varies with time as P = [3t2 - 2t + 1] watts. Where t is time in
seconds. Then the change in kinetic energy of particle between time t = 2s to t = 4s is -

fdlh d.k ij yxkbZ xbZ 'kfä le; ds lkFk cnyrh jgrh gS] vFkkZr~ P = [3t2 - 2t + 1] okVA tgk¡
t lsdaM esa le; gSA rks  t = 2s ls t = 4s ds chp d.k dh xfrt ÅtkZ esa ifjorZu gS

(A) 46 J (B) 52 J (C) 92 J (D) 104 J
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20. Given ˆ ˆA 2i 3 j 


 . The angle between   A


and y-axis is-

fn;k  x;k gS ˆ ˆA 2i 3 j 


A  A
  vkSj y- v{k ds chp dk dks.k gS&

(A)
1 2

sin
3


(B)    

1 2
cos

3


(C)
1 2

tan
3


(D)   

1 3
tan

2


21. A ball is dropped from top of a tower of 100 m height. Simultaneously another ball was
thrown upwards from bottom of the tower with a speed of 50m/s(g = 10 m/s2), they will cross
each other after

,d xsan dks 100 ehVj ÅapkbZ ds ,d Vkoj ds Åij ls fxjk;k tkrk gSA blds lkFk gh ,d vkSj xsan
V‚oj ds uhps ls 50m/s(g = 10 m/s2) dh xfr ls Åij dh vksj Qsadh xbZA os  ,d nwljs dks ikj djsaxs

____ckn

(A) 1 s (B) 2 s (C) 3 s (D) 4 s

22. A car covers 1/3 distance with speed 20 km/hr and 2/3 with 60 km/hr. Average speed is

(A) 40 km/hr (B) 50 2 km / hr (C) 36 km/hr (D) 80 km/hr

,d dkj 1@3 nwjh 20 fdeh@?kaVk dh xfr ls vkSj 2@3 nwjh  60 fdeh@?kaVk dh xfr ls r; djrh
gSA vkSlr xfr gS

(A) 40 fdeh / ?kaVk (B) 50 2 fdeh / ?kaVk (C) 36 fdeh / ?kaVk (D) 80 fdeh / ?kaVk

23. A body of mass 2 kg moving on a horizontal surface with an initial velocity of 4 m/sec comes
to rest after 2 sec. If one wants to keep this body moving on the same surface with a velocity
of 4 m/sec. the force required is

2 fdxzk æO;eku dk ,d fi.M {kSfrt lrg ij 4 m/sec ds çkjafHkd osx ls xfreku gS] 2 lsdaM ds
ckn fojkekoLFkk esa vk tkrk gSA ;fn dksbZ bl fiaM dks 4 ehVj@lsdsaM ds osx ls mlh lrg ij
xfreku j[kuk pkgrk gSA vko';d cy gS

(A) 8 N (B) 4 N (C) Zero (D) 2 N

24. In a gravity free space, a man of mass M standing at a height h above the floor throws a
stone of mass m downwards with a speed u. When the stone reaches the floor, distance of
the man above the floor will be

xq#Rokd"kZ.k eqä LFkku esa] M æO;eku dk ,d O;fä Q'kZ ls h Å¡pkbZ ij [kM+k gksdj m æO;eku ds
,d iRFkj dks u xfr ls uhps dh vksj Qsadrk gSA tc iRFkj Q'kZ ij igq¡prk gS] rks Q'kZ ls Åij okys
O;fä dh nwjh gksxh

(A) h (B)
mh

h
M

 (C) 2 h (D)
2Mh

h
m


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25. A vector 1P


  is along the positive x-axis. If its vector product with another vector 2P


  is zero,

then  2P


 could be-

(A)  ˆ4 j (B)    ˆ4i (C)  ˆ ˆ( j k) (D)  ˆ ˆ( i j) 

,d lfn'k 1P

 /kukRed x&v{k ds vuqfn'k gSA ;fn bldk fdlh vU; lfn'k 2P


 ds lkFk lfn'k

xq.kuQy 'kwU; gS] rks 2P


 gks ldrk gS&

(A)  ˆ4 j (B)    ˆ4i (C)  ˆ ˆ( j k) (D)  ˆ ˆ( i j) 

26. The vector ˆ ˆ ˆ5i 2 j k     is perpendicular to the vector  ˆ ˆ ˆ3i j 2k   for l =

(A) 1 (B) 4.7 (C) 6.3 (D) 8.5

lfn'k ˆ ˆ ˆ5i 2 j k    ds fy, lfn'k ˆ ˆ ˆ3i j 2k   yacor  gS rks  l =

(A) 1 (B) 4.7 (C) 6.3 (D) 8.5

27. A body of 5 kg is moving with a velocity of 20 m/s. If a force of 100 N is applied on it for 10 s

in the same direction as its velocity, what will now be the velocity of the body.

5 fdxzk dk ,d fi.M 20 eh@ls ds osx ls xfr dj jgk gSA ;fn mlds osx ds leku fn'kk esa 10 s

ds fy, ml ij 100 N dk cy yxk;k tk,] rks vc fiaM dk osx D;k gksxkA

(A) 200 m/s (B) 220 m/s (C) 240 m/s (D) 260 m/s

28. A person standing on the floor of an elevator drops a coins. The coin reaches the floor of the

elevator in a time t
1
 if the elevator is stationary and in time t

2
 if it is moving uniformly, then

(A) t
1
 = t

2
(B) t

1
 > t

2
(C) t

1
 < t

2

(D) t
1
 <  t

2
 or t

1
 > t

2
 depending on whether the lift is going up or down

fy¶V ds Q'kZ ij [kM+k ,d O;fä ,d flDdk fxjkrk gSA flDdk le; t
1
 esa fy¶V ds Q'kZ ij igqaprk

gS ;fn fy¶V fLFkj gS vkSj le; t
2
 esa ;fn ;g leku :i ls py jgk gS] rks

(A) t
1
 = t

2
(B) t

1
 > t

2
(C) t

1
 < t

2

(D) t
1
 <  t

2
 ;k t

1
 > t

2
 bl ij fuHkZj djrk gS fd fy¶V Åij ;k uhps tk jgh gS ;k ugha

29. A monkey of mass 20 kg is holding a vertical rope. The rope will not break when a mass of 25

kg is  suspended from it but will break if the mass exceeds 25 kg. What is the maximum

acceleration with which the monkey can climb up along the rope ?

(g = 10 ms2)

(A) 10 m/s2 (B) 25 m/s2 (C) 2.5 m/s2 (D) 5 m/s2
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20 fdyks otu dk ,d canj ,d [kM+h jLlh idM+s gq, gSA tc 25 fdxzk dk æO;eku blesa ls yVdk;k
tkrk gS rks jLlh ugha VwVsxh] ysfdu ;fn æO;eku 25 fdxzk ls vf/kd gks tk, rks VwV tk,xhA og
vf/kdre Roj.k D;k gS ftlls canj jLlh ds lgkjs Åij p<+ ldrk gS\ (g = 10 ms2)

(A) 10 m/s2 (B) 25 m/s2 (C) 2.5 m/s2 (D) 5 m/s2

30. A cannon on a level plane is aimed at an angle   above the horizontal and a shell is fired with

a muzzle velocity v
0
 towards a vertical cliff a distance D away. Then the height from the

bottom at which the shell strikes the side walls of the cliff is

,d lery ry ij ,d rksi {kSfrt ls Åij   ds dks.k ij yf{kr gksrh gS vkSj ,d xksys dks FkwFku
osx v

0 
ds lkFk nkxk tkrk gS ,d ÅèokZ/kj pêku dh vksj D dh nwjh ijA fQj uhps ls Å¡pkbZ ftl

ij 'ksy pêku dh ik'oZ nhokjksa ls Vdjkrk gS

(A)
2

2 2
0

gD
Dsin

2v sin
 


(B)

2

2 2
0

gD
Dcos

2v cos
 



(C)
2

2 2
0

gD
Dtan

2v cos
 


(D)

2

2 2
0

gD
Dtan

2v sin
 



PART-B : CHEMISTRY   (jlk;u 'kkL=k)
31. If the energy of first orbit of hydrogen atom is –1312 kJ/mole then the value of IP in KJ/mol is-

;fn gkbMªkstu ijek.kq dh çFke d{kk dh ÅtkZ &1312 kJ/mole gS rks KJ/mol esa IP dk eku gS&

(A) + 1312 (B) –1312 (C) – 675.5 (D) + 675.5

32. How many electron filled in the orbital which have n = 3,  = 2, m = 2 :–

ml d{kd esa fdrus bysDVª‚u Hkjs gq, gSa ftlds fy, n = 3,  = 2, m = 2 gksxk % &

(A) 2 (B) 10 (C) 14 (D) 6

33. Electronic configuration of Cr is 3d5 4s1 not 3d4 4s2, it is explain by the following :-

(A) Hund's Rule of maximum multiplicity (B) Pauli's exclusion principle

(C) Aufbau principle (D) Uncertainty principle

Cr dk bysDVª‚fud foU;kl 3d5 4s1 ugha 3d4 4s2 gS] bls fuEufyf[kr }kjk le>k;k x;k gS % &

(A) gqaM dk vf/kdre xq.ku dk fu;e (B) ikmyh dk cfg"dj.k fl)kar

(C) vkSQckS fl)kar (D) vfuf'prrk fl)kar
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34. Difference of radius of third and second orbit of hydrogen atom –

gkbMªkstu ijek.kq dh rhljh vkSj nwljh d{kk dh f=T;k dk varj &

(A) 5r1 (B) 
2
3

r1 (C) 
3
2

r1 (D) r1

35. For 2px, 2py and 2pz which quantum number same are –

2px, 2py vkSj 2pz ds fy, dkSu lh DokaVe la[;k leku gS &

(A) n (B) n,  (C) n, , m (D) n, , s

36. According to Neils Bohr order of energy of 3s, 3p and 3d orbital is –

uhYl cksgj ds vuqlkj 3s, 3p vkSj 3d d{kd dh ÅtkZ dk Øe gS &

(A) 3s > 3p > 3d (B) 3s < 3p < 3d (C) 3s < 3p > 3d (D) 3s = 3p = 3d

37. In which the following pairs, the two species are iso-structural -

ftlesa fuEufyf[kr tksM+s] nks çtkfr;ka vkblks&LVªDpjy gSa &

(A) SO 2
3  and NO3

– (B) BF3 and NF3 (C) BrO3
– and XeO3(D) SF4 and XeF4

38. The number of moles of OH– in 0.3 litre of 0.005 M Ba(OH)
2
 is :

0-005 M Ba(OH)
2
  ds 0-3 yhVj esa OH– ds eksy dh la[;k gS %

(A) 0.075 (B) 0.005 (C) 0.045 (D) 0.003

39. The vapour density of a gas is 11.2 the volume occupied by 11.2 gm of this gas at NTP is :

,d xSl dk ok"i ?kuRo 11-2 gS] NTP ij bl xSl dk 11-2 xzke vk;ru fdruk gS %

(A) 1 litre (B) 11.2 litre (C) 22.4 litre (D) 20 litre

40. From the following the number of atoms is greater in :

(A) 4 g hydrogen (B) 71 g chlorine (C) 48 g magnisum (D) 127 g iodine

fuEufyf[kr esa ls ijek.kqvksa dh la[;k vf/kd gS %

(A) 4 xzke gkbMªkstu (B) 71 xzke Dyksjhu

(C) 48 xzke eSXuhf'k;e (D) 127 xzke vk;ksMhu

41. One mole of CO
2
 contains :

(A) 6.02 × 1023 atoms of C (B) 6.02 × 1023 atoms of O

(C) 18.1 × 1023 molecules of CO
2

(D) 3 gram molecules of CO
2
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CO
2
  ds ,d eksy esa 'kkfey gSa %

(A) C ds 6.02 × 1023  ijek.kq (B) O ds 6.02 × 1023  ijek.kq

(C) CO
2
 ds 18.1 × 1023  v.kq (D) CO

2 
ds 3 xzke v.kq

42. In the periodic table, in the same group, the elements has :

(A) Same ionization potential (B) Same electronegativity

(C) Same electron affinity (D) Same no. of valence electrons

vkorZ lkj.kh esa] ,d gh lewg esa] rRoksa esa gS %

(A) leku vk;uhdj.k {kerk (B) leku bysDVªksuxsfVfoVh

(C) ogh bysDVª‚u vkReh;rk (D) leku la;kstdrk bysDVª‚uksa dk

43. Which of the following statement is incorrect for an atom having electronic configuration 2, 8,
7 :

(A) It forms diatomic molecules (B) It is a non metal element

(C) Its valency is 1 (D) It forms basic oxide

bysDVª‚fud foU;kl 2] 8] 7 okys ijek.kq ds fy, fuEufyf[kr esa ls dkSu lk dFku xyr gS %

(A) ;g f}ijek.kqd v.kq cukrk gSA (B) ;g ,d v/kkrq rRo gSA

(C)  bldh la;kstdrk 1 gSA (D)  ;g {kkjdh; v‚DlkbM cukrh gSA

44. Electronegativity is the measurement of capacity of an atom by which :

(A) Electrons get repelled

(B) Electrons get attracted

(C) Point with proton

(D) Co-exist electronegativity with another atom

bysDVªksuxsfVfoVh ,d ijek.kq dh {kerk dk eki gS ftlds }kjk %

(A) bysDVª‚uksa dk fod"kZ.k gks tkrk gSA

(B) bysDVª‚u vkdf"kZr gks tkrs gSaA

(C) çksV‚u ds lkFk fcanq

(D) nwljs ijek.kq ds lkFk lg&vfLrRo esa bysDVªksuxsfVfoVh

45. The electronic configuration of four elements are given below. Which elements does not belong
to the same block as others ?

pkj rRoksa dk bysDVª‚fud foU;kl uhps fn;k x;k gSA dkSu ls rRo vU; ds leku Cy‚d ls lacaf/kr ugha
gS a \

(A) [Xe] 4f145d106s2 (B) [Kr]4d10 5s2 (C) [Ne] 3s2 3p5 (D) [Ar]3d104s2



                              For Students  in class 11 going to class 12  (MED)  |  [SAMPLE TEST PAPER]

Mentors Eduserv: Parus Lok Complex, Boring Road Crossing, Patna-1
Helpline No. :  9569668800 | 7544015993/4/6/7

46. Elements X, Y, and Z have atomic numbers 19, 37 and 55 respectively. Which of the following
statements is true about them ?

(A) Their ionization potential would increase with increasing atomic number

(B) 'Y' would have an ionization potential between those of 'X' and 'Z'

(C) 'Z' would have the highest ionization potential

(D) 'Y' would have the highest ioniztion potential

rRo X, Y vkSj Z ds ijek.kq Øekad Øe'k% 19] 37 vkSj 55 gSaA fuEufyf[kr esa ls dkSu lk dFku muds
ckjs esa lR; gS \

(A) ijek.kq la[;k c<+us ds lkFk mudh vk;uhdj.k {kerk c<+ tk,xh

(B) 'Y' esa 'X' vkSj 'Z' ds chp vk;uhdj.k {kerk gksxh

(C) 'Z' esa mPpre vk;uhdj.k {kerk gksxh

(D) 'Y' esa mPpre vk;uhdj.k {kerk gksxh

47. Which one of the following ions has the smallest radius ?

fuEufyf[kr esa ls fdl vk;u dh f=T;k lcls NksVh gS \

(A) Cl– (B) S2– (C) K+ (D) Ca2+

48. Consider the ground state of Cr(Z = 24). The no. of electrons with the azimuthal quantum no.
l = 1 & 2 respectively are -

Cr(Z = 24) dh ewy voLFkk ij fopkj djsaA fnxa'kh; DokaVe la[;k  l = 1 vkSj 2 okys bysDVª‚uksa dh
la[;k Øe'k% gS &

(A) 16 & 4 (B) 12 & 5 (C) 12 & 4 (D) 16 & 5

49. Rutherford scattering formula fails for very small scattering angles because -

(A) The full nuclear charge of target atom is partially screen by its electron.

(B) The impact parameter between the-particles source and the nucleus of target is very large
compared to size of nucleus

(C) The Kinetic energy of  -particles is large.

(D) The gold foil is very thin

jnjQksMZ çdh.kZu lw= cgqr NksVs çdh.kZu dks.kksa ds fy, vlQy gks tkrk gS D;ksafd &

(A) y{; ijek.kq dk iw.kZ ukfHkdh; vkos'k mlds bysDVª‚u }kjk vkaf'kd :i ls vkPNkfnr gksrk gSA

(b) &d.k lzksr vkSj y{; ds ukfHkd ds chp çHkko çkpy ukfHkd ds vkdkj dh rqyuk esa cgqr cM+k gksrk
gSA

(C) &d.kksa dh xfrt ÅtkZ vf/kd gksrh gSA

(D) lksus dh iUuh cgqr iryh gksrh gSA
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50. The ratio of the radii of first orbits of H, He+ and Li2+ is -

(A) 1 : 2 : 3 (B) 6 : 3 : 2 (C) 1 : 4 : 9 (D) 9 : 4 : 1

H, He+ + vkSj Li2++ dh çFke d{kkvksa dh f=T;kvksa dk vuqikr gS &

(A) 1 : 2 : 3 (B) 6 : 3 : 2 (C) 1 : 4 : 9 (D) 9 : 4 : 1

51. The wave number of the limiting line in Lyman series of hydrogen is 109678 cm-1. The wave
number of the limiting line in Balmer series  of He+ would be -

(A) 54839 cm-1 (B) 219356 cm-1 (C) 109678 cm-1 (D) 438712 cm-1

gkbMªkstu dh ykbeu Js.kh esa lhek js[kk dh rjax la[;k 109678 lseh&1 gSA He+ dh ckej Js.kh esa lhek
js[kk dh rjax la[;k gksxh &

(A) 54839 cm-1 (B) 219356 cm-1 (C) 109678 cm-1 (D) 438712 cm-1

52. The number of electrons having l = 0 in chlorine atom (Z = 17) is

(A) 2 (B) 4 (C) 6 (D) 5

Dyksjhu ijek.kq (Z = 17) esa l = 0 okys bysDVª‚uksa dh la[;k gS

(A) 2 (B) 4 (C) 6 (D) 5

53. Among the following, the molecule that is linear and has lowest dipole moment is -

(A) CO
2

(B) NO
2

(C) SO
2

(D) ClO
2

fuEufyf[kr esa ls og v.kq tks jSf[kd gS rFkk ftldk f}/kzqo vk?kw.kZ lcls de gS] og gS &

(A) CO
2

(B) NO
2

(C) SO
2

(D) ClO
2

54. Which is the correct statement ?

(A) 2H  ion is more stable than H
2
 molecule

(B) The bond dissociation energy for 2H   ion is +ve though it has a bond order of 0.5

(C) The bond order of  2H  ion is 0.5 and hence  2H  ion does not exist.

(D) The electron density along a line joining the two centres of the hydrogen nuclei in 2H  will

always be greater than at the corresponding points along a similar line for H
2
.

dkSu lk dFku lgh gS\

(A) 2H  vk;u] H
2 
v.kq ls vf/kd LFkk;h gksrk gSA

(B) 2H  vk;u dh ca/k fo;kstu ÅtkZ +ve gksrh gS] ;|fi bldk ca/k Øe 0-5 gksrk gSA

(C) 2H  vk;u dk ca/k Øe 0-5 gksrk gS] vr% 2H  vk;u dk vfLrRo ugha gksrkA

(D) gkbMªkstu ukfHkd 2H  ds nks dsaæksa dks feykus okyh js[kk ds vuqfn'k bysDVª‚u ?kuRo] H
2
 ds fy,

leku js[kk ds vuqfn'k  laxr fcanqvksa dh rqyuk esa lnSo vf/kd gksxkA
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55. A "5g" orbital has -

(A) zero angular and zero radial node

(B) zero radial node and two angular node

(C) four radial nodes and four angular nodes

(D) zero radial node and four angular nodes

,d ^^5g^^ d{kd esa &

(A) 'kwU; dks.kh; vkSj 'kwU; jsfM;y uksM

(B) 'kwU; jsfM;y uksM vkSj nks dks.kh; uksM

(C) pkj jsfM;y uksM vkSj pkj dks.kh; uksM

(D) 'kwU; jsfM;y uksM vkSj pkj dks.kh; uksM

56.  The order of energy released for the hydration of Ca2+, Sr2+ and Ba2+ is -

(A) Ca2+ > Sr2+  > Ba2+ (B) Ca2+ > Ba2+  > Sr2+

(C) Sr2+ > Ba2+  > Ca2+ (D) Ba2+ > Sr2+   > Ca2+

Ca2+, Sr2+ vkSj Ba2+ ds ty;kstu ds fy, eqä ÅtkZ dk Øe gS &

(A) Ca2+ > Sr2+  > Ba2+ (B) Ca2+ > Ba2+  > Sr2+

(C) Sr2+ > Ba2+  > Ca2+ (D) Ba2+ > Sr2+   > Ca2+

57. Which of the following pairs has both members from the same group of periodic table -

(A) Mg, Ba (B) Mg, Na (C) Mg, Cu (D) Mg, Cl

fuEufyf[kr esa ls fdl ;qXe ds nksuksa lnL; vkorZ lkj.kh ds ,d gh lewg ls gSa &

(A) Mg, Ba (B) Mg, Na (C) Mg, Cu (D) Mg, Cl

58. In C, N, O, F which of the following order is correct for I. P. : -

(A) F > O > C > N (B) O > F > N > C (C) F > N > O > C (D) N > F > O > C

C, N, O, F  ds fy, fuEufyf[kr esa ls dkSu lk Øe lgh gS% I. P. ds fy,

(A) F > O > C > N (B) O > F > N > C (C) F > N > O > C (D) N > F > O > C

59. Which of the following has highest ionisation energy?

(A) [Ne] 3s2 3p1 (B) [Ne] 3s2 3p3 (C) [Ne] 3s2 3p2 (D) [Ar] 4s2 3d10 4p3

fuEufyf[kr esa ls fdldh vk;uu ÅtkZ lcls vf/kd gS\

(A) [Ne] 3s2 3p1 (B) [Ne] 3s2 3p3 (C) [Ne] 3s2 3p2 (D) [Ar] 4s2 3d10 4p3

60. Arrange S, O and Se in ascending order of electron affinity :

(A) Se < S < O (B) Se < O < S (C) S < O < Se (D) S < Se < O

S, O vkSj Se dks bysDVª‚u ca/kqrk ds vkjksgh Øe esa O;ofLFkr djsa%

(A) Se < S < O (B) O < Se < S (C) S < O < Se (D) S < Se < O
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PART-C : BIOLOGY  (tho foKku)

61. Identify the organisms mentioned below in the box & find out the correct options w.r.t their
number of genus & family respectively.

Tiger, Dog, Leopard, Cat, Lion

(A) 5 & 3 (B) 3 & 5 (C) 3 & 2 (D) 4 & 5

uhps fn, x, c‚Dl esa x, tkuojksa dh igpku crkbZ xbZ gSA muds iztkrh ds vuqlkj lgh fodYi
pqusaA

ck?k] dqÙkk] rsanqvk] fcYyh] 'ksj

(A) 5 vkSj 3 (B) 3 vkSj 5 (C) 3 vkSj 2 (D) 4 vkSj 5

62. The number of species that are known and described range between :

(A) 1.7-1.8 million (B) 2.7-3 million

(C) 17-18 million (D) 27-30 million

Kkr vkSj of.kZr çtkfr;ksa dh la[;k ds chp gS

(A) 1.7-1.8 fefy;u (B) 2.7-3 fefy;u

(C) 17-18 fefy;u (D) 27-30 fefy;u

63. Observe the flow chart given below and identify 'X' for plants :

Kingdom

X

Class

Order

Family

Genus

Species

(A) Phylum (B) Division (C) Kingdom (D) Class



                              For Students  in class 11 going to class 12  (MED)  |  [SAMPLE TEST PAPER]

Mentors Eduserv: Parus Lok Complex, Boring Road Crossing, Patna-1
Helpline No. :  9569668800 | 7544015993/4/6/7

uhps fn, x, çokg pkVZ dks fujh{k.k djsa vkSj ikS/kksa ds fy, X dh igpku djsa

lkezkT;

X

d{kk

vkns’k

ifjokj

tkfr

iztkfr;k¡

(A) Qkbye (B) fMohtu (C) fdaxMe (D) Dykl

64. Cats belong to _______ family whereas  dogs belong to ________ family :

(A) Felidae, Canidae (B) Canidae, Felidae

(C) Muscidae, Felidae (D) Muscidae, Canidae

fcfYy;k¡ ls lacaf/kr gSa --------------------- ifjokj tcfd dqÙks ds gSa ---------------------------- ifjokj

(A) QsfyMs] dSfuMs (B) dSfuMs] QsfyMs

(C) efLdMs] QsfyMs (D) efLdMs] dSfuMs

65. What is axoneme in cilia/flagella ?

(A) The core of cilia (B) Peripheral tubules

(C) Radial spoke (D) Outer membrane

flfy;k@¶yStsyk esa v{krarq D;k gS\

(A) flfy;k dk ewy (B) ifj/kh; ufydk,a

(C) jsfM;y Liksd (D) ckgjh f>Yyh
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66. Identify the correct match from the column-I, II and III

Column-I  Column-II Column-III

1. Late prophase (A) (i) ER & Golgi complex disappear

2. Anaphase (B) (ii) Chromosomes decondense and loose their

individuality

3. Telophase (C) (iii) Longest phase of meiosis-I

4. Prophase-I (D) (iv) Splitting of centromeres occur

(A) 1 – C – iv, 2 – A – iii, 3 – B – i, 4 – D – ii

(B) 1 – B – i, 2 – A – iv, 3 – D – ii, 4 – C – iii

(C) 1 – A – iii, 2 – B – iv, 3 – C – i, 4 – D – ii

(D) 1 – C – iv, 2 – A – iii, 3 – B – ii, 4 – D – i
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d‚ye - I] II vkSj III ls lgh feyku dh igpku djsa

d‚ye&I  d‚ye&II d‚ye&III

1- nsj ls izpkj (A) (i) bZvkj] xksYxh d‚EIysDl xk;c gks tkrk gS

2- ,ukQst (B) (ii) xq.klw= fo?kfVr gks tkrs gSa vkSj mudk <hyk gks

tkrk gS

3- VsyksQst (C) (iii) v/kZlw=hfoHkktu dk lcls yack pj.k-I

4- çksQst-I (D) (iv) lsaVªksfe;j dk foHkktu gksrk gS

(A) 1 – C – iv, 2 – A – iii, 3 – B – i, 4 – D – ii

(B) 1 – B – i, 2 – A – iv, 3 – D – ii, 4 – C – iii

(C) 1 – A – iii, 2 – B – iv, 3 – C – i, 4 – D – ii

(D) 1 – C – iv, 2 – A – iii, 3 – B – ii, 4 – D – i

67. The most dramatic period of the cell cycle is :

(A) M-phase (B) S-phase (C) Interphase (D) Cytokinesis

dksf'kdk pØ dh lcls ukVdh; vof/k %

(A) ,e&pj.k (B) ,l&pj.k (C) baVjQst (D) lkbVksdkbusfll

68. Which of the following is not a valid step in the taxonomic hierarchy?

(A) Phylum (B) Tribes (C) Sub-class (D) Domain

fuEufyf[kr esa ls dkSu lk ofxZdh futhdj.k esa ,d O;kikfjd pj.k ugha gS\

¼,½ la?k ¼ch½ tutkfr;k¡ ¼lh½ mi&oxZ ¼Mh½ Mksesu
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69. Crossing over occurs in which phase of meiosis ?

(A) Leptotene (B) Pachytene (C) Diplotene (D) Diakinesis

Ø‚flax vksoj v/kZlw=h foHkktu ds fdl pj.k esa gksrk gS\

(A) ysIVksVhu (B) iSdhVhu (C) fMIyksVhu (D) Mk;dkbusfll

70. Which stage of cell cycle is marked by initiation of condensation of chromosomal material ?

(A) Prophase (B) Metaphase (C) G
2
-phase (D) S-phase

xq.klw= lkexzh ds la?kuu dh 'kq#vkr }kjk dksf'kdk pØ ds fdl pj.k dks fpfàr fd;k tkrk gS\

(A) çksQst (B) esVkQst (C) th
2
&pj.k (D) ,l&pj.k

71. Select the correct feature of living beings

(A) Consciousness (B) Reproduction

(C) Growth and metabolism (D) All of these

thoksa dh lgh fo'ks"krk dk p;u dhft,

(A) psruk (B) çtuu (C) o`f) vkSj mikip; (D) ;s lHkh

72. ___(A)___ the category, ____(B)___ is the difficulty of determining the relationship to other
taxa at the same level. (A) & (B) stand for:-

(A) Higher, greater, (B) Lower, Lesser

(C) Higher, Lesser (D) Both (A) & (B)

___ ___Js.kh] ___ ___ leku Lrj ij vU; oxksaZ ds lkFk laca/k fu/kkZfjr djus dh nwjh gSA

¼,½ vkSj ¼ch½ dk vFkZ gS%&

¼,½mPprj] vf/kd] ¼ch½ fuEurj] derj

¼lh½ mPprj] derj ¼Mh½ ¼,½ vkSj ¼ch½ nksuksa

73. Species Plantarum and Systema Naturae were written by

(A) Engler (B) Linnaeus (C) Hooker (D) Wallace

Lih'kht IykaVkje vkSj flLVsek uspqjs ds ys[kd Fks

(A) ,axyj (B) fyfu;l (C) gwdj (D) okysl

74. Which of the following is the correct sequence of categories in Linnaeus hierarchy?

(A) Class, family, species, genus, order (B) Phylum, class, family, species, order

(C) Species, genus, family phylum, class (D) Species, genus, family, order, class.
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fyfu;l inkuqØe esa Jsf.k;ksa dk lgh Øe fuEufyf[kr esa ls dkSu lk gS\

(A) oxZ] dqy] çtkfr] oa'k] x.k (B) la?k] oxZ] dqy] çtkfr] x.k

(C) çtkfr] oa'k] dqy la?k] oxZ (D) çtkfr] oa'k] dqy x.k] oxZA

75. How many statement (s) given below are correct?

(I) The physio-chemical approach to study and understand biotic and abiotic factor is called
Reductionist Biology

(II) Ramachadran and L. Pauling described the  - helix and    sheet structure of proteins.

(III) A specialised differentiated form of cell membrane called mesosome is the characteristic
of prokaryotes.

(IV) Materials to be packaged in the form of vesicles from ER fuse with cis face of
golgi apparatus and move towards the maturing face.

(A) 3 (B) 4 (C) 2 (D) 1

uhps fn, x, fdrus dFku lgh gSa\

(A) tSfod vkSj vtSfod dkjdksa ds v/;;u vkSj le>us ds HkkSfrd&jklk;fud –f"Vdks.k dks
U;wuhdj.koknh thofoKku dgk tkrk gSA

(B) jkepaæu vkSj ,y- i‚fyax us çksVhu dh dqaMfyuh vkSj pknj lajpuk dk o.kZu fd;kA

(C) dksf'kdk f>Yyh dk ,d fof'k"V foHksfnr :i] ftls eslkslkse dgk tkrk gS] çksdSfj;ksV~l dh
fo'ks"krk gSA

(D) bZvkj ls iqfVdkvksa ds :i esa iSd fd, tkus okys inkFkZ x‚Yth midj.k ds fll Qyd ds lkFk
layf;r gksrs gSa vkSj ifjiDo Qyd dh vksj c<+rs gSaAsa

76. Five kingdom classification was proposed by Whittaker on the basis of

(A) Complexity of cells structure (B) Mode of nutrition

(C) Complexity of body organisation (D) All of the above

fOgVsdj }kjk ik¡p txr oxhZdj.k dk çLrko bl vk/kkj ij j[kk x;k Fkk%

(A) dksf'kdk lajpuk dh tfVyrk (B) iks"k.k dk rjhdk

(C) tho ds 'kjhj dh tfVyrk (D) mijksä lHkh

77. Mesosome participates in

(A) Photosynthesis (B) Nitrogen metabolism

(C) Lipid metabolism (D) Aerobic respiration
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eslkslkse esa Hkkx ysrk gS

(A) çdk'k la'ys"k.k (B) ukbVªkstu mikip;

(C) fyfiM mikip; (D) ok;oh; 'olu

78. In which kingdom, chemosynthetic organisms are seen out of five kingdoms proposed by
Whittaker ?

(A) Ptotista (B) Monera (C) Fungi (D) Plantae

fOgVsdj }kjk çLrkfor ik¡p txrksa esa ls fdl txr esa jlk;ula'ys"kh tho ns[ks tkrs gSa\

(A) VksfVLVk (B) eksusjk (C) dod (D) IykaVs

79. Find the incorrect match w.r.t. shapes of bacteria

(A) Coccus : Spherical shaped

(B) Bacilus : Rod shaped

(C) Vibrium : Circular shaped

(D) Spirillum : Spiral shaped

thok.kqvksa ds vkdkj ds lanHkZ esa xyr feyku Kkr dhft,A

(A) dksdl % xksykdkj

(B) cSflyl % NM+ ds vkdkj dk

(C) okbfcz;e % xksykdkj

(D) Likbfjye % lfiZy vkdkj dk

80. Biogas is produced by

(A) Eubacteria (B) Archaebacteria (C) Mycoplasma (D) Cyanobacteria

ck;ksxSl dk mRiknu fdlds }kjk gksrk gS

(A) ;wcSDVhfj;k (B) vkdhZcSDVhfj;k (C) ekbdksIykTek (D) lk;ukscSDVhfj;k

81. Select the incorrect statement.

(A) Kingdom plantae includes all eukaryotic chlorophyll-containing organisms

(B) Life cycle of plants has two distinct phases

(C) Kingdom Animalia included multicellular organisms

(D) Animals store glycogen or starch



                              For Students  in class 11 going to class 12  (MED)  |  [SAMPLE TEST PAPER]

Mentors Eduserv: Parus Lok Complex, Boring Road Crossing, Patna-1
Helpline No. :  9569668800 | 7544015993/4/6/7

xyr dFku pqusaA

(A) txr IykaVh esa lHkh ;wdsfj;ksfVd DyksjksfQy ;qä tho 'kkfey gSaA

(B) ikS/kksa ds thou pØ ds nks vyx&vyx pj.k gksrs gSaA

(C) txr ,fuesfy;k esa cgqdksf'kdh; tho 'kkfey gSaA

(D) tarq Xykbdkstu ;k LVkpZ dk HkaMkj.k djrs gSaA

82. Middle lamella is mainly made up of -

(A) Na-pectate (B) Mg-pectate (C) Ca-pectate (D) K-pectate

e/; iVfydk cuh gksrh gS &

(A) Na-isDVsV (B) Mg-isDVsV (C) Ca-isDVsV (D) K-isDVsV

83. The ribosome of 70S sediment coefficient breaks into subunits of

(A) 50S and 20S (B) 50S and 40S (C) 50S and 30S (D) 60S and 40S

70S volkn xq.kkad okyk jkbckslkse mibdkb;ksa esa VwVrk gS

(A) 50S vkSj 20S (B) 50S vkSj 40S (C) 50S vkSj 30S (D) 60S vkSj 40S

84. Glycocalyx or cell coat which functions as cell recognition centre is made up of

(A) Proteins (B) Lipids

(C) Proteins and lipids (D) Glycoproteins and glycolipids

XykbdksdSfyDl ;k dksf'kdk vkoj.k] tks dksf'kdk igpku dsaæ ds :i esa dk;Z djrk gS] fdlls cuk
gksrk gS\

(A) çksVhu (B) fyfiM

(C) çksVhu vkSj fyfiM (D) XykbdksçksVhu vkSj XykbdksfyfiM

85. DNA synthesis takes place in :

(A) S phase (B) G
1
 phase (C) G

2
 phase (D) None

Mh,u, la'ys"k.k gksrk gS%

(A) S pj.k (B) G
1
 pj.k (C) G

2
 pj.k (D) dksbZ ugha

86. Most active stage of cell cycle is :

(A) Prophase (B) Metaphase (C) Telophase (D) Interphase
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dksf'kdk pØ dh lcls lfØ; voLFkk gS%

(A) çksQst (B) esVkQst (C) VsyksQst (D) baVjQst

87.  Above 95 % part of cell cycle formed in which of the following phase?

(A) Prophase (B) Metaphase (C) Anaphase (D) Interphase

dksf'kdk pØ dk 95 % ls vf/kd Hkkx fdlesa curk gS\

(A) iwokZoLFkk (B) e/;koLFkk (C) i'pkoLFkk (D) varjkoLFkk

88. "Bouquet-stage" occur in which sub stages of prophase-I :

(A) Leptotene (B) Zygotene (C) Pachytene (D) Diplotene

^^cqds&pj.k^^ çksQst-I dh fdu mi&voLFkkvksa esa gksrk gS %

(A) ysIVksVhu (B) tkbxksVhu (C) iSdhVhu (D) fMIyksVhu

89. The synaptonemal complex appears :

(A) Between homologous chromosomes (B) In zygotene stage

(C) Composed of DNA and protein (D) All the above

fluSIVksusey d‚EIysDl çdV gksrk gS%

(A) letkrh; xq.klw=ksa ds chp (B) ;qXeut voLFkk esa

(C) DNA  vkSj çksVhu ls cuk (D) mijksä lHkh

90. Which one of the following statements is not true for meiosis ?

(A) It occurs in reproductive tissue only

(B) Chromosomes undergo pairing in early prophase-I

(C) Chromosomes do not exchange part

(D) Centromeres do not divide during anaphase-I

fuEufyf[kr esa ls dkSu lk dFku v/kZlw=hfoHkktu ds fy, lR; ugha gS\

(A) ;g dsoy çtuu Ård esa gksrk gSA

(B) xq.klw= çkjafHkd çksQst-I esa ;qXeu djrs gSaA

(C) xq.klw= Hkkxksa dk vknku&çnku ugha djrs gSaA

(D) lsaVªksfe;j ,ukQst-I ds nkSjku foHkkftr ugha gksrs gSaA

91. When the circulatory system lacks arteries, veins and capillaries, it is called as

(A) closed type (B) mixed type

(C) in appropriate information (D) open type
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tc lapkj ç.kkyh esa èkefu;ksa] f'kjkvksa vkSj dsf'kdkvksa dh deh gksrh gS] rks bls dgk tkrk gS

(A) can çdkj (B) fefJr çdkj (C) vuqi;qä tkudkjh (D) [kqyk çdkj

92. Epithelial  tissue origined  from  :-

(A) Ectoderm (B) Endoderm (C) Mesoderm (D) All of above

midyk Ård dh mRifÙk gqÃ gS%&

(A) ,DVksMeZ (B) ,aMksMeZ (C) eslksMeZ (D) mijksä lHkh

93. Mark the correct pair of muscles involved in the normal breathing in humans

(A) External and internal intercostal muscles

(B) Diaphragm and abdominal muscles

(C) Diaphragm and external intercostal muscles

(D) Diaphragm and intercostal muscles

euq";ksa esa lkekU; 'olu esa 'kkfey ekalisf'k;ksa ds lgh tksM+s dks fpfàr djsaA

(A) cká vkSj vkarfjd varjki'kqZd ekalisf'k;ka

(B) Mk;kÝke vkSj mnj ekalisf'k;ka

(C) Mk;kÝke vkSj cká varjki'kqZd ekalisf'k;ka

(D) Mk;kÝke vkSj varjki'kqZd ekalisf'k;ka

94. In the given diagram, identify what is depicted by A, B and C.

Choose the correct option.

(A) A-Air going out from lungs, B-Ribs and sternum relaxed, C-volume of thorax increased

(B) A-Air entering lungs, B-Ribs and sternum relaxed, C-volume of thorax increased

(C) A-Air entering lungs, B-Ribs and sternum raised, C-volume of thorax increased

(D) A-Air going out from lungs, B-Ribs and sternum relaxed, C-volume of thorax decreased
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fn, x, vkjs[k esa] igpkusa fd A, B vkSj C }kjk D;k n'kkZ;k x;k gS

lgh fodYi pqusaA

(A) A-QsQM+ksa ls ok;q dk ckgj fudyuk] B-ilfy;k¡ vkSj mjksfLFk f'kfFky] C-o{k dk vk;ru c<+uk

(B) A-QsQM+ksa esa ok;q dk ços'k] B-ilfy;k¡ vkSj mjksfLFk f'kfFky] C-o{k dk vk;ru c<+uk

(C) A-QsQM+ksa esa ok;q dk ços'k] B-ilfy;k¡ vkSj mjksfLFk Åij mBuk] C-o{k dk vk;ru c<+uk

(D) A-QsQM+ksa ls ok;q dk ckgj fudyuk] B-ilfy;k¡ vkSj mjksfLFk f'kfFky] C-o{k dk vk;ru de
gksuk

95. Find the incorrect statement:

(A) Solubility of CO
2
 is 20-25 times higher than that of O

2
.

(B) Thickness of respiratory membrane is less than a millimeter.

(C) 7% of CO
2
 is carried in the dissolved state.

(D) 100 mL of oxygenated blood can deliver around 5 mL of oxygen to tissues during exercise.

xyr dFku Kkr dhft,%

(A) CO
2
 dh ?kqyu'khyrk O

2
 dh rqyuk esa 20&25 xquk vf/kd gSA

(B) 'olu f>Yyh dh eksVkbZ ,d feyhehVj ls Hkh de gSA

(C) 7% CO
2
 ?kqyh gqbZ voLFkk esa ys tkbZ tkrh gSA

(D) O;k;ke ds nkSjku 100 feyhyhVj v‚Dlhtu ;qä jä Årdksa rd yxHkx 5 feyhyhVj v‚Dlhtu
igq¡pk ldrk gSA

96. Voice is produced by the vibrations of vocal cords during

(A) Inspiration (B) Expiration (C) Both (D) None

Loj jTtqvksa ds daiu ds dkj.k mRiUu gksrk gS

(A) çsj.kk (B) fu%'olu (C) nksuksa (D) dksbZ ugha
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97. Column I represents diseases and column II represents their symptoms. Which of the
following pairs are correct match for them:-

Column I Column II

(P) Asthma (i) Alveoli gets damage

(Q) Emphysema (ii) Accumulation of fluid in alveolus

(R) Pneumonia (iii) Allergy

(A) P- iii, Q - ii, R - i (B) P - iii, Q - i, R - ii

(C) P - ii, Q - iiii, R - i (D) P - ii, Q - i, R - iii

LraHk-I jksxksa dks vkSj LraHk-II muds y{k.kksa dks n'kkZrk gSA fuEufyf[kr esa ls dkSu ls ;qXe buds fy,
lgh esy [kkrs gSa%&

LraHk-I LraHk-II

(P) nek (i) ok;qdksf"Bdk dks uqdlku igqaprk gS

(Q) okrLQhfr (ii) ok;qdksf"Bdk esa æo dk lap;

(R) fueksfu;k (iii) ,ythZ

(A) P- iii, Q - ii, R - i (B) P - iii, Q - i, R - ii

(C) P - ii, Q - iiii, R - i (D) P - ii, Q - i, R - iii

98. In oxygen dissociation curve x-axis and y-axis represent

(A) x-axis — partial pressure of oxygen; y-axis — percentage saturation of Hb with oxygen

(B) x-axis — partial pressure of oxygen; y-axis — partial pressure of oxygen

(C) x-axis — partial pressure of CO
2
; y-axis — percentage saturation of oxyhaemoglobin

with oxygen

(D) x-axis — partial pressure of CO
2
; y-axis — partial pressure of oxygen
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v‚Dlhtu i`FkDdj.k oØ esa x-v{k vkSj y-v{k n'kkZrs gSa

(A) x-v{k & v‚Dlhtu dk vkaf'kd nkc; y-v{k & v‚Dlhtu ds lkFk gkbMªksDyksjkbM dh lar`fIr
dk çfr'kr

(B) x-v{k & v‚Dlhtu dk vkaf'kd nkc; y-v{k & v‚Dlhtu dk vkaf'kd nkc

(C) x-v{k & CO
2
 dk vkaf'kd nkc; y-v{k & v‚Dlhtu ds lkFk v‚DlhgheksXyksfcu dh larf̀Ir dk

çfr'kr

(D) x-v{k & CO
2
 dk vkaf'kd nkc; CO

2
; y-v{k & v‚Dlhtu dk vkaf'kd nkc

99. Which of the following function is not performed by simple epithelial tissues?

(A) They protect the underlying tissues from mechanical injuries mainly

(B) Germinal layer of gonads produce gametes

(C) They help in gaseous exchange

(D) Some epithelial cells get specialised for secretion

fuEufyf[kr esa ls dkSu lk dk;Z lkèkkj.k midyk Ård }kjk ugÈ fd;k tkrk gS\

(A) os eq[; :i ls ;kaf=d pksVksa ls varÆufgr Årdksa dh j{kk djrs gSa

(B) xksukM dh tÆeuy ijr ;qXed mRiUu djrh gS

(C) os xSlh; fofue; esa enn djrs gSa

(D) dqN midyk dksf'kdk,a lzko ds fy, fof'k"V gks tkrh gSa

100. Which of the following cells does not exhibit phagocytic activity?

(A) Monocytes (B) Neutrophil (C) Basophil (D) Macrophage

fuEufyf[kr esa ls dkSu lh dksf'kdk Hk{kddksf'kdh; fØ;k'khyrk çnf'kZr ugha djrh\

(A) eksukslkbV~l (B) U;wVªksfQy (C) cslksfQy (D) eSØksQst
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101. Which among the followings is correct during each cardiac cycle?

(A) The volume of blood pumped out by the Rt and Lt ventricles is same

(B) The volume of blood pumped out by the Rt and Lt ventricles is different

(C) The volume of blood received by each atrium is different

(D) The volume of blood received by the aorta and pulmonary artery is different

çR;sd ân; pØ ds nkSjku fuEufyf[kr esa ls dkSu lk lgh gS\

(A) nk,¡ vkSj ck,¡ fuy; }kjk iai fd, x, jä dh ek=k leku gksrh gSA

(B) nk,¡ vkSj ck,¡ fuy; }kjk iai fd, x, jä dh ek=k fHkUu gksrh gSA

(C) çR;sd vkfyan }kjk xzg.k fd, x, jä dh ek=k fHkUu gksrh gSA

(D) egk/keuh vkSj Qq¶Qqlh; /keuh }kjk xzg.k fd, x, jä dh ek=k fHkUu gksrh gSA

102. Mark the pair of substances among the following which is essential for coagulation of blood.

(A) Heparin and calcium ions (B) Calcium ions and platelet factors

(C) Hirudin (D) Platelet factors and heparin

fuEufyf[kr esa ls ml inkFkZ ds tksM+s dks fpfàr dhft, tks jä ds FkDds teus ds fy, vko';d gSA

(A) gsifju vkSj dSfY'k;e vk;u (B) dSfY'k;e vk;u vkSj IysVysV dkjd

(C) fg#fMu (D) IysVysV dkjd vkSj gsifju

103. The second heart sound (dub) is associated with the closure of

(A) Tricuspid valve (B) Semilunar valves

(C) Bicuspid valve (D) Tricuspid and bicuspid valves

nwljh ân; /ofu ¼Mc½ fdlds can gksus ls lacaf/kr gS\

(A) f=dinhZ okYo (B) v/kZpaækdkj okYo

(C) f}dinhZ okYo (D) f=dinhZ vkSj f}dinhZ okYo

104. Which of the following correctly explains a phase/event in cardiac cycle in a standard
electrocardiogram?

(A) QRS complex indicates atrial contraction

(B) QRS complex indicates ventricular contraction

(C) Time between S and T represents atrial systole

(D) P-wave indicates beginning of ventricular contraction
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fuEufyf[kr esa ls dkSu lk ,d ekud bysDVªksdkfMZ;ksxzke esa ân; pØ ds fdlh pj.k/?kVuk dh lgh
O;k[;k djrk gS\

(A) QRS d‚EIysDl vkfyan ladqpu dks n'kkZrk gS

(B) QRS d‚EIysDl fuy; ladqpu dks n'kkZrk gS

(C) S vkSj T ds chp dk le; vkfyan flLVksy dks n'kkZrk gS

(D) P-rjax fuy; ladqpu dh 'kq#vkr dks n'kkZrk gS

105. How do parasympathetic neural signals affect the working of the heart?

(A) Reduce both heart rate and cardiac output

(B) Heart rate is increase without affecting the cardiac output

(C) Both heart rate and cardiac output increase

(D) Heart rate decrease but cardiac output increase

iSjkflEisFksfVd raf=dk ladsr ân; dh dk;Zç.kkyh dks dSls çHkkfor djrs gSa\

(A) ân; xfr vkSj ân; fuxZe nksuksa dks de djrs gSa

(B) ân; fuxZe dks çHkkfor fd, fcuk ân; xfr dks c<+krs gSa

(C) ân; xfr vkSj ân; fuxZe nksuksa dks c<+krs gSa

(D) ân; xfr de gksrh gS ysfdu ân; fuxZe c<+rk gS

106. Which of the following statements is correct?

(A) ADH — prevents conversion of angioten-sinogen in blood to angiotensin

(B) ADH — facilitates water reabsorption

(C) ANF — enhances sodium reabsorption

(D) Renin — causes vasodilation

fuEufyf[kr esa ls dkSu lk dFku lgh gS\

(A) ADH — jä esa ,aft;ksVsuflukstsu dks ,aft;ksVsaflu esa ifjofrZr gksus ls jksdrk gS

(B) ADH — ty iqu%vo'kks"k.k dks lqxe cukrk gS

(C) ANF — lksfM;e iqu%vo'kks"k.k dks c<+krk gS

(D) Renin — okfgdkfoLQkj dk dkj.k curk gS

107. Full form of JGA :

(A) Juxta golumerular apparatus (B) Juxta gelemorular apparatus

(C) Juxta glomerular apparatus (D) Juxta gallomerula apparatus
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tsth, dk Qqy Q‚eZ%

(A) tqDLVk xksyqes#yj midj.k (B) tqDLVk tsyeks#yj midj.k

(C) Xykses#yj midj.k ds fudV (D) xSykses#yj midj.k ds fudV

108. The condition of accumulation of urea in the blood is termed as

(A) Renal Calculi (B) Glomerulonephritis

(C) Uremia (D) Ketonuria

jä esa ;wfj;k ds lap; dh fLFkfr dks D;k dgrs gSa\

(A) o`Dd iFkjh (B) Xykses#yksusÝkbfVl

(C) ;wjhfe;k (D) dhVksuqfj;k

109. Which statement is not correct regarding neural tissue ?

(A) Neuron is an excitable cell

(B) Neuroglial tissues are half the volume of neural tissues of body

(C) Neurons are responsible for responsiveness of our body

(D) Neurons and neuroglial cells, both are excitable cells

raf=dk Ård ds laca/k esa dkSu lk dFku lgh ugha gS\

(A) U;wj‚u ,d mÙkstuh; dksf'kdk gSA

(B) U;wjksfXy;y Ård 'kjhj ds raf=dk Årdksa ds vk/ks vk;ru ds gksrs gSaA

(C) U;wj‚Ul gekjs 'kjhj dh çfrfØ;k'khyrk ds fy, mÙkjnk;h gksrs gSaA

(D) U;wj‚Ul vkSj U;wjksfXy;y dksf'kdk,¡] nksuksa gh mÙkstuh; dksf'kdk,¡ gSaA

110. Match the terms given in Column I with their physiological processes given in Column II and
choose the correct answer

Column I Column II

A. Proximal convoluted tubule (i) Formation of concentrated urine

B. Distal convoluted tubule (ii) Filtration of blood

C. Henle’s loop (iii) Reabsorption of 70-80% of electrolytes

D. Counter-current mechanism (iv) Ionic balance

E. Renal corpuscle (v) Maintenance of concentration gradient in medulla

Options:

(A) A—(iii), B—(v), C—(iv), D—(ii), E—(i) (B) A—(iii), B—(iv), C—(i), D—(v), E—(ii)

(C) A—(i), B—(iii), C—(ii), D—(v), E—(iv) (D) A—(iii), B—(i), C—(iv), D—(v), E—(ii)
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d‚ye-I esa fn, x, inksa dk feyku d‚ye-II esa nh xbZ mudh 'kkjhfjd çfØ;kvksa ls dhft, vkSj lgh
mÙkj pqfu,A

d‚ye-I d‚ye-II

A. lehiLFk dqaMfyr ufydk (i) lkaæ ew= dk fuekZ.k

B. nwjLFk dqaMfyr ufydk (ii) jä fuLianu

C. gsuys ywi (iii) 70&80% fo|qr vi?kVîksa dk iqu%vo'kks"k.k

D. çfr/kkjk fØ;kfof/k (iv) vk;fud larqyu

E. o`Dd df.kdk (v) eTtk esa lkaærk ço.krk dk j[kj[kko

fodYi%

(A) A—(iii), B—(v), C—(iv), D—(ii), E—(i) (B) A—(iii), B—(iv), C—(i), D—(v), E—(ii)

(C) A—(i), B—(iii), C—(ii), D—(v), E—(iv) (D) A—(iii), B—(i), C—(iv), D—(v), E—(ii)

111. Which one is correct ?

(A) Blood = plasma + RBC + WBC + blood platelets

(B) Neuron = cyton + dendrite + axon + synapse

(C) Plasma = blood – lymphocytes

(D) Lymph = plasma + RBC + WBC

dkSulk lgh gS \

¼,½ jä ¾ IykTek $ vkjchlh $ MCY;wchlh $ jä IysVysV~l

¼ch½ U;wj‚u ¾ lkbV‚u $ MsUMªkbV $ v{krarq $ fluSIl

¼lh½ IykTek ¾ jä & fyEQkslkbV~l

¼Mh½ fyEQ ¾ IykTek $ vkjchlh $ MCY;wchlh

112. We can produce concentrated/dilute urine. This is facilitated by a special mechanism. Identify
the mechanism.

(A) Reabsorption from PCT

(B) Reabsorption from collecting duct

(C) Reabsorption/secretion in DCT

(D) Counter current mechanism in Henle’s loop/Vasa recta
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ge lkaæ/iryk ew= mRiUu dj ldrs gSaA ;g ,d fo'ks"k fØ;kfof/k }kjk lqxe gksrk gSA fØ;kfof/k dh
igpku dhft,A

(A) PCT ls iqu%vo'kks"k.k (B) laxzg.k okfguh ls iqu%vo'kks"k.k

(C) DCT esa iqu%vo'kks"k.k/lzko (D) gsUys ywi/oklk jsDVk esa çfr/kkjk fØ;kfof/k

113. The osmolarity of inner medulla is

(A) 300mOsm/L (B) 1200mOsm/L

(C) 700mOsm/L (D) 2000mOsm/L

vkarfjd esMqyk dh ijklj.krk gS

(A) 300mOsm/L (B) 1200mOsm/L

(C) 700mOsm/L (D) 2000mOsm/L

114. Match the types of WBC listed in Column I with shape of nucleus given under Column II.
Choose the answer which gives the correct combination of alphabets of the two columns :

Column I (Types of WBC) Column II  (Shape of nucleus)

A. Neutrophils p. Kidney–shaped

B. Eosinophils q. S–shaped

C. Basophils r. 3 to 5 lobes

D. Monocytes s. 2 lobes

t. Disc–shaped

(A) A   r, B   s, C   q, D   p (B) A   r, B   t, C   p, D   q

(C) A   t, B   r, C   q, D   s (D) A   q, B   p, C   t, D   r

d‚ye I esa lwphc) WBC ds çdkjksa dks d‚ye II ds rgr fn, x, ukfHkd ds vkdkj ds lkFk lqesfyr
djsaA ml mÙkj dk p;u djsa tks nks LraHkksa ds v{kjksa dk lgh la;kstu nsrk gS%

d‚ye I (WBC ds izdkj) d‚ye II ¼ukfHkd dk vkdkj½

A. U;wVªksfQy p. xqnsZ ds vkdkj dh

B. ÃfluksfQYl q. ,l ds vkdkj dk

C. cslksfQYl r. 3 ls 5 yksc

D. eksukslkbV~l s. 2 ikfy;k¡

t. fMLd ds vkdkj dk

(A) A   r, B   s, C   q, D   p (B) A   r, B   t, C   p, D   q

(C) A   t, B   r, C   q, D   s (D) A   q, B   p, C   t, D   r
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115. Diameter of renal afferent vessel is

(A) Same as that of efferent (B) Larger than that of efferent

(C) Smaller than that of efferent (D) None of the above

o`Dd vfHkokgh okfgdk dk O;kl gS

(A) viokgh okfgdk ds leku (B) viokgh okfgdk ls cM+k

(C) viokgh okfgdk ls NksVk (D) mijksä esa ls dksbZ ugha

116. Which of the following WBCs are phagocytic cells.

(a) Monocytes (b) Neutrophils (c) Basophils (d) Eosinophils

Options :

(A) Only (a) (B) (a) and (b) (C) (a) and (c) (D) (c) and (d)

fuEufyf[kr esa ls dkSu lh 'osr jä dksf'kdk,¡ Hk{kddksf'kdk dksf'kdk,¡ gSa\

(a) eksukslkbV~l (b) U;wVªksfQYl (c) cslksfQYl (d) b;ksfluksfQYl

fodYi %

(A) dsoy (a) (B) (a) vkSj (b) (C) (a) vkSj (c) (D) (c) vkSj (d)

117. Myelin sheath is derived from :

(A) Neuroglial cells (B) Schwann cells

(C) Nerve cells (D) Both (A) & (B)

ekbfyu E;ku fdlls çkIr gksrk gS%

(A) U;wjksfXy;y dksf'kdk,a (B) Üoku dksf'kdk,a

(C) raf=dk dksf'kdkvksa (D) nksuksa (A) vkSj (B)

118. Which connective tissues are present beneath the skin :–

A. Areolar tissue B. Adipose tissue C. Dense irregular connective tissue

(A) Only B (B) Only A (C) Only A and B (D) All A, B and C

Ropk ds uhps dkSu ls la;ksth Ård ik, tkrs gSa%&

A. ,fjvksyj Ård B. olk Ård C. l?ku vfu;fer la;ksth Ård

(A) dsoy B (B) dsoy A (C) dsoy A vkSj B (D) lHkh A, B vkSj C
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119. Areolar connective tissue joins

(A) Bones with bones (B) Fat body with muscles

(C) Integument with muscles (D) Bones with muscles

,fj;ksyj la;ksth Ård tqM+rs gSa

(A) gfì;ksa ds lkFk gfì;ksa (B) ekalisf'k;ksa ds lkFk eksVk 'kjhj

(C) ekalisf'k;ksa ds lkFk iw.kk±d (D) ekalisf'k;ksa ds lkFk gfì;ksa

120. Heart possess :

(A) Cardiac muscles only

(B) Cardiac muscles + Neural tissue

(C) Cardiac muscles + Neural tissues + Epithelial tissues + Connective tissues

(D) Cardiac muscles + Neural tissues + Epithelial tissues

ân; esa gksrs gSa%

(A) dsoy ân; dh ekalisf'k;k¡

(B) ân; dh ekalisf'k;k¡ + raf=dk Ård

(C) ân; dh ekalisf'k;k¡ + raf=dk Ård + midyk Ård + la;ksth Ård

(D) ân; dh ekalisf'k;k¡ + raf=dk Ård + midyk Ård



                               For Students  in class 11 going to class 12  (MED)  |  [SAMPLE TEST PAPER]

Mentors Eduserv: Parus Lok Complex, Boring Road Crossing, Patna-1
Helpline No. :  9569668800 | 7544015993/4/6/7

      MENTORS EDUSERV TALENT REWARD EXAM (METRE)
SAMPLE TEST PAPER

[For Students presently in Class 11 going to Class 12]

[STREAM: MEDICAL]

PART-A : PHYSICS (HkkSfrdh)
1. (B) 2. (A) 3. (D) 4. (D) 5. (B)
6. (B) 7. (D) 8. (B) 9. (A) 10. (A)
11. (B) 12. (B) 13. (A) 14. (A) 15. (B)
16. (B) 17. (B) 18. (D) 19. (A) 20. (C)
21. (B) 22. (C) 23. (B) 24. (B) 25. (B)
26. (D) 27. (B) 28. (A) 29. (C) 30. (C)

PART-B : CHEMISTRY (jlk;u 'kkL=k)
31. (A) 32. (A) 33. (C) 34. (A) 35. (B)
36. (D) 37. (C) 38. (D) 39. (B) 40. (A)
41. (A) 42. (D) 43. (D) 44. (B) 45. (C)
46. (B) 47. (D) 48. (B) 49. (B) 50. (B)
51. (C) 52. (C) 53. (A) 54. (B) 55. (D)
56. (A) 57. (A) 58. (C) 59. (B) 60. (B)

PART-C : BIOLOGY (tho foKku)
61. (C) 62. (A) 63. (B) 64. (A) 65. (A)
66. (B) 67. (A) 68. (D) 69. (B) 70. (A)
71. (D) 72. (D) 73. (B) 74. (D) 75. (C)
76. (D) 77. (D) 78. (B) 79. (C) 80. (B)
81. (D) 82. (C) 83. (C) 84. (D) 85. (A)
86. (D) 87. (D) 88. (A) 89. (D) 90. (C)
91. (D) 92. (D) 93. (C) 94. (C) 95. (D)
96. (B) 97. (B) 98. (A) 99. (A) 100. (C)
101. (A) 102. (B) 103. (B) 104. (B) 105. (A)
106. (B) 107. (C) 108. (C) 109. (D) 110. (B)
111. (A) 112. (D) 113. (B) 114. (A) 115. (B)
116. (B) 117. (D) 118. (D) 119. (C) 120. (C)
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